EARAROBREBRT —5 XN—ZXBISH—F

202246108238 (H) mlEEm4H

I C 2+ U SF%R—A%

‘(fﬁ} W ‘I%EH?’JFE‘?] | 5 12000 7em

[AE%] 1% :300,00 M ~ 27%&:105,000 M  3%&:60,000M  47%&:30,000MH  53&:15,000 H

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
IS wF— 4 3 | HER 1:16.1 3-2 39.6| — 2 460 |RER (KR
118(8 f'ij/?\:f o 540 ) o | EAER
RPT709— BiOAVIFRYY =
M4 3 | EBRE 1:16.1 1-1 39.8| — 1 436 | BESE ()
2011 [ XYY 56.0 () ) |HEE
R:IUIAI—2 B:Fa1—094T7—> (-4) BN IHh RIS
S it 3 | EREE 1:16.4 4-4 39.0| - 4 | 41 |EPE— (KR
3189 | RA—TJ—=FTA145— 54.0 172 1B
RUU—5—Yv T BAABTI—NTA ™) LS5
SRiEE 1:16.8 5-5 38.6| — 3 464 | FEERIR (KR
717|-/_9_ "3 56.0 e
: (2172 [Ii=57 S
REVIPY I EEE BDVETRU—L 0| e mie
N A 1:16.8 2-3 40.3| - 7 | so2 |1BEEZ (EE)
xAeQ4a4> 3 54.0 g =
: (zE) Ak
QikyI—STT AR/ EO0CY ®9 T mk
EwY ¢ H— R v 9 ggﬂ.cz 1(:16.3) 6-6 8.2 - 8 | 485 i;%g%ﬁlﬂ)
o e =
R¥Y/OTOA BFA4IY—TpR O 19555550
E—O—YvH—5 Ho3| LA (1:17.3) 76 386 — | 5 | 53 %%S%E (KiR)
. 2172 ~ t—
R:RIT4 BFAUPI—T 8 | Fremigs
-~ SANYHS 4 3 | BAETE 1:17.7 8-6 38.9| — 6 459 | FREERD (KR)
/’\7\.7_\/7/\/.13“7_\ ‘ A51.0 @ 1/2) g | THAET
R:O0J94F B:vI=UI)IL/A(1 BHE XX
9/5|5 | ZLAINILF 3 B (1:15.1) 99 382 - | 9 | 4 ;gi%@(mm
. 2 1/2 _ Fn/NIE|
RFVIAANXN B:TIESY NA—Y (-2) #HBIT7—L
@ 11— —‘@BIEfI
13—7F—
20—7F—
31—7F— 1,7,8,9,2,6,4,3,5
43—F— 1,8,7,9,2,(3,4,6),5
o ILRE
BB 8 400 JA R 1-8 1509 & 1-8 1804 3EE 1-8-9 4408
B B 8 100M4 8-9 220 5B E 1-8 2504 3EE 8-1-9 1,500/
1 110 1-9 2004 o= 8-1 7004
9 110

ABIC OV TRUTEREERRODDZE. THRIIZEL.



